[RUN=10, CH=4 | Uy [mV] [RUN=11, CH=4 | Uy [mV]
2 4 6 8 10 12 14 16 18 20 22

......... i gl eoccupancy.....

occupancy, efficiency
occupancy, efficiency

[ RUN=12, CH=4 | Upr [mV] [ RUN=13, CH=4 | Upyg [mV]
6 8 1618 20 22 4 6 8 10 12 14 16 18
oy : : : g : : : :
= . . . = . . . . .
& ot -ooo oo OCCUPANCY....... B 10 B Feorernenns e EITIT. #0cCUpancy.....
= sefficiency = : : sefficiency
© S SR @i S e
z : ) :
5 VTS AU S10L.......®. L.l - .
B N B -
8 10" fre-eree e e S L e £ e
............................................................... L
1 1 i
2 2.5 1o 0 0.5 1 1.5 2 2!5
Upyye/MP Upe/MP
[ RUN=14, CH=4 | [ RUN=15, CH=4 | Upyg [mV]

25

occupancy, efficiency
occupancy, efficiency

[ RUN=16, CH=4 | Upye [mV] [ RUN=17,CH=4 | Upye [mV]
A0 s 20 25 2 30 40 5

100 Foee o erereeeens e S e ®OCCUpANCY.....

0 R b -Poccupiney
sefficiency . : : i

sefficiency

occupancy, efficiency
occupancy, efficiency

S B - S S S
THR/MP
[ RUN=18, CH=4 | Upyg [mV] [RUN=19, CH=4 | Upyge [mV]
h 3]0 4[0 5|0 6|0 710 h 15 20 2|5 3r0 3[5 40
100 S . -+ #0CCUPANCY...... 100 freeees b S 2OCCUPANCY ...
: : : sefficiency : : : sefficiency

occupancy, efficiency
occupancy, efficiency




